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Divisione di un numero intero Nome:
Risolvi ogni operazione. Risposte
1) 78:2= 2) 50:7=
1.
2.
3.
3) 96:2= 4) 40:2= 4
5.
6.
5) 43:2= 6) 63:8= 7.
8.
9.
10.
7) 34:4= 8 74:2=
11.
12.
9) 30:4= 10) 66:2=
11) 87:9= 12) 72:2=
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Divisione di un numero intero Nome: Soluzioni
Risolvi ogni operazione. Risposte
1) 78:2= 39 2) 50:7= Trl
1 39
2. 7rl
3 48
3) 96:2= 48 4) 40:2= 20 A 20
5. 21rl
6. 7r7
5) 43:2=21rl 6) 63:8= 717 7. 8 r2
8 37
9. 7r2
10, 33
7) 34:4= 812 8 74:2= 137
11. 9r6
12. 36
9) 30:4= 712 10) 66:2= 33
11) 87:9= 916 12) 72:2= 36
1-10 [92[83]75]67]58]50[42[33]25]17]
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